

Bestimmen von Stammfunktionen

Mittwoch, 26. Februar 2020 21:53

Aufgaben:

$$1a) \int \frac{x}{\sqrt{4-x^2}} dx$$

$$\stackrel{(1)}{=} \int -\frac{1}{2\sqrt{u}} du = -\sqrt{u}$$

$$\stackrel{(1)}{=} -\sqrt{4-x^2} = F(x)$$

$$F'(x) = -\frac{1}{2}(4-x^2)^{-\frac{1}{2}} \cdot (-2x) = \frac{x}{\sqrt{4-x^2}}$$

$$\text{Subst.: } u = 4-x^2 \quad (1)$$

$$\frac{du}{dx} = -2x \quad | \cdot (-\frac{1}{2}) dx$$

$$-\frac{1}{2} du = x dx$$

$$b) \int \sqrt{4-2x} dx$$

$$\stackrel{(1)}{=} \int -\frac{1}{2} \sqrt{u} du = -\frac{1}{2} \cdot \frac{2}{3} u^{\frac{3}{2}}$$

$$= -\frac{1}{3} u^{\frac{3}{2}} \stackrel{(1)}{=} -\frac{1}{3} (4-2x)^{\frac{3}{2}} = F(x)$$

$$F'(x) = -\frac{1}{3} \cdot \frac{3}{2} (4-2x)^{\frac{1}{2}} \cdot (-2) = \sqrt{4-2x}$$

$$\text{Subst.: } u = 4-2x \quad (1)$$

$$\frac{du}{dx} = -2$$

$$-\frac{1}{2} du = dx$$

$$2. a) \int \frac{e^{2x}}{(e^x-2)^3} dx$$

$$\stackrel{(1),(2)}{=} \int \frac{e^{2 \ln(u+2)}}{u^3} \cdot \frac{1}{u+2} du$$

$$= \int \frac{(u+2)^2}{u^3} \cdot \frac{1}{u+2} du$$

$$= \int \frac{u+2}{u^3} du = \int \frac{1}{u^2} + \frac{2}{u^3} du$$

$$= -\frac{1}{u} - \frac{2}{2u^2} \stackrel{(1)}{=} -\frac{1}{e^x-2} - \frac{1}{(e^x-2)^2}$$

$$= \frac{-e^x+1}{(e^x-2)^2} = F(x)$$

$$\text{Subst.: } u = e^x-2 \quad (1)$$

$$x = \ln(u+2) \quad (2)$$

$$(u > 0)$$

$$\frac{dx}{du} = \frac{1}{u+2}$$

$$dx = \frac{1}{u+2} du$$

$$\begin{aligned}
 F'(x) &= \frac{-e^x(e^x-2)^2 - (-e^x+1) \cdot 2(e^x-2) \cdot e^x}{(e^x-2)^4} && \text{(Quotientenregel)} \\
 &= \frac{(e^x-2) \cdot [-e^{2x} + 2e^x + 2e^{2x} - 2e^x]}{(e^x-2)^4} \\
 &= \frac{e^{2x}}{(e^x-2)^3}
 \end{aligned}$$

$$\begin{aligned}
 b) \int \frac{1}{\sqrt{x}+x} dx &= \int \frac{1}{\sqrt{x}(1+\sqrt{x})} dx && \text{Subst.: } u = 1+\sqrt{x} && (1) \\
 &&& \sqrt{x} = u-1 && (2) \\
 &&& x = (u-1)^2 \quad (u \geq 1) \\
 &&& \frac{dx}{du} = 2(u-1) \\
 &&& dx = 2(u-1) du \\
 &&& \\
 &\stackrel{(1),(2)}{=} \int \frac{1}{(u-1) \cdot u} \cdot 2(u-1) du \\
 &= \int \frac{2}{u} du = 2 \ln(u) \\
 &\stackrel{(1)}{=} 2 \ln(1+\sqrt{x}) = F(x)
 \end{aligned}$$

$$F'(x) = \frac{2}{1+\sqrt{x}} \cdot \frac{1}{2\sqrt{x}} = \frac{1}{(1+\sqrt{x})\sqrt{x}} = \frac{1}{\sqrt{x}+x}$$

$$\begin{aligned}
 3a) \int \underbrace{2x}_v \underbrace{e^{3x}}_w dx &= \frac{1}{3} e^{3x} \cdot 2x - \int 2 \cdot \frac{1}{3} e^{3x} dx \\
 &= \frac{2}{3} x e^{3x} - \frac{2}{9} e^{3x} = F(x)
 \end{aligned}$$

$$F'(x) = \frac{2}{3} \cdot (e^{3x} + x \cdot 3e^{3x}) - \frac{2}{9} e^{3x} = 2x e^{3x}$$

$$\begin{aligned}
 b) \int x \cdot \sin(x) dx &= -x \cdot \cos(x) + \int \cos(x) dx \\
 &= -x \cdot \cos(x) + \sin(x) = F(x)
 \end{aligned}$$

$$F'(x) = -\cos(x) + x \cdot \sin(x) + \cos(x) = x \cdot \sin(x)$$

$$\begin{aligned}
 c) \int e^{2x} \cdot \sin(x) dx &= -e^{2x} \cdot \cos(x) + \int 2e^{2x} \cos(x) dx \\
 &\stackrel{= F(x)}{=} -e^{2x} \cdot \cos(x) + 2e^{2x} \sin(x) - \underbrace{\int 4e^{2x} \sin(x) dx}_{= 4F(x)}
 \end{aligned}$$

$$\Rightarrow F(x) = -e^{2x} \cos(x) + 2e^{2x} \sin(x) - 4A \quad | +4F(x) | :5$$

$$F(x) = \frac{e^{2x}}{5} (-\cos(x) + 2 \sin(x))$$

$$\begin{aligned} F'(x) &= \frac{2e^{2x}}{5} (-\cos(x) + 2 \sin(x)) + \frac{e^{2x}}{5} (\sin(x) + 2 \cos(x)) \\ &= \left(\frac{4}{5} + \frac{1}{5}\right) e^{2x} \sin(x) = e^{2x} \cdot \sin(x) \end{aligned}$$